ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN

49/24-A, MINTO ROAD, PRAYAGRAJ.
SESSION JAN - JUNE 2021

ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

TIME - 1.30 HRS

Semester — 1 (CAHS)
BASICS OF HUMAN BODY (BHB-1)

MAX MARKS-100

(ONLINE EXAM)

(Objective Questions)

(agfrss =)
Attempt each question: 50x2=100
g 9 P I@¥ Q-
(1)  Unit of Body is -
(a) Cell (b) Tissue
(c) Both (d) None
IR B FTHIS © —
(a) B Rrawr (b) HaH
(c) <=t (d) ®Ig &l
(2) Types of tissues are -
(a) 4 (b) 8
(c)5 (d) None
HdPb b YR a—
(a) 4 (b) 8
(c)5 (d) ®Ig &l
(3) Function of Epithelial tissue is -
(a) Defence (b) Absorption
(c) Excretion (d) All

Epithelial &d® &1 &Rf 8 —

(a) ver

(b) ey

(c) Scasi (d) a+



(4)

)

(6)

(7)

(8)

(9)

connects Nucleus to Cell Membrane -

(a) Golgi Apparatus (b) Endoplasmic Reticulum
(c) Both (d) None

Nucleus @t Cell Membrance & Siisdr 8 —

(@) N ITRTH (b) gesiwfHs feqmad
(c) @t (d) ®1g LT
Transportation of elements in cells take place by -

(a) Active Transport (b) Passive Transport

(c) Both (d) None

®I9 § dcdl BT ATEH Y shal & —

(a) Gfspa a8+ (b) Frds T

(c) <=t (d) Big el

Cardiac muscles are related to -

(a) Intestine (b) Heart

(c) Both (d) None

g<a vt wwfaa @ -

(a) ATd (b) g<a

(c) srt (d) B T

____helps in conduction of impulse -

(a) Nervous tissue (b) Fluid tissue

(c) Both (d) None

Impulse ®T T8 HxdT 2—

(a) &1 SHdas (b) IRl Had

(c) gr4r (d) dig T8

Collagen fibers are present in -

(a) Fatty connective tissue (b) Cartilage and Bone connective tissue
(c) Both (d) None

Collagen fibers Ul &d & —

(a) Fatty connective tissue (b) Cartilage and Bone connective tissue
(c) g4t (d) ®dIg T8

____works as packing material -

(a) Aeriolar connective tissue (b) Fatty connective tissue
(c) Both (d) None

——— packing material ®T ®Rf &d © —

(a) Aeriolar connective tissue (b) Fatty connective tissue

(c) It (d) dIg T8



(10) It filters the blood -

(a) Kidney (b) Heart

(c) Both (d) None

TE Xad Pl BT 2—

(a) fosil (b) g<a

(c) <=t (d) Big el
(11) Formation of blood in Intrauterine stage starts -

(a) 5 — 8 weeks (b) 4 — 9 weeks

(c) 3—4 weeks (d) None

YOIaeI] d ¥ad 9491 31 gfhar ged o3l 28—

(a) 5- 8 A«wrE (b) 4 — 9 AwTE

(c) 3 —4 a«rs (d) &g -T2l
(12) Formation of blood cells occur in -

(a) Kidney (b) Bone Marrow

(c) Both (d) None

Iad HRTHIRN &1 frfor ghar @ —

(a) freh (b) STT—iRY

(c) It (d) BI$ T
(13) Protein with highest atomic weight is -

(a) Albumin (b) Globulin

(c) Fibrinogen (d) None

|9 3If® SR BT YIS B —

(a) Albumin (b) Globulin

(c) Fibrinogen (d) ®ig T8l
(14) Proteins are synthesized in -

(a) Liver (b) Kidney

(c) Heart (d) All of these

9= @1 synthesis &Il 38—

(a) I%a (b) &

(c) g™ (d) &=
(15) Blood serum contains Fibrinogen -

(a) True (b) False

(c) Both (d) None

Blood serum # Fibrinogen 9raT SITdl 8 —

(a) @eEl (b) Terd

(c) == (d) ®Ig &l



(16) Graveyard of all types of blood cells is -

(a) Spleen (b) Liver

(c) Both (d) None

THl YR P Yad BB BT Hfaw™ 2—

(a) wler (b) I&Bd

(c) st (d) ®1g Tl
(17) Erythrocytes are -

(a) Round (b) Biconvex disc

(c) Biconcave disc (d) None

Erythrocyte &It 38—

(a) Round (b) Biconvex disc

(c) Biconcave disc (d) ®dIg T8
(18) Mobile security guards of Human body are -

(a) WBC (b) RBC

(c) Both (d) None

AT INR $T Fdal ¥l 28—

(a) WBC (b) RBC

(c) It (d) BI$ T
(19) About 120 days of life span has -

(a) WBC (b) RBC

(c) Both (d) None

T 120 =t &1 Sflas &1t har @ —

(a) WBC (b) RBC

(c) s (d) ®Ig =Tl
(20) Neutrophils are destroyed largely in -

(a) Typhoid (b) Measles

(c) Influenza (d) All

Neutrophils 31fere G&ar & s & oid 2 —

(a) Typhoid ® (b) Measles &

(c) Influenza (d) |+t
(21) It digest and destroy microbes —

(a) Ribosomes (b) Lysosomes

(c) Both (d) None

& Saropetl &1 991 &) T &R qd 8 —

(a) Ribosomes (b) Lysosomes

(c) <=t (d) ®I$ 81



(22) Itis present in large quantity in Respiratory system and digestive system-

(a) Eosinophill (b) Basophill

(c) Both (d) None

G A 9 Urad a9 ° Afte 9 ord @ -

(a) Eosinophill (b) Basophill

(c) ait (d) BIg T&
(23) Site of generation of Leucocytes is -

(a) Lymph Nodes (b) Bone Marrow

(c) Both (d) None

Leucocytes T ST+ w19 & —

(a) Lymph Nodes (b) Bone Marrow

(c) It (d) BI$ T
(24) Leucaemia is a disorder of -

(a) Blood (b) Heart

(c) Both (d) None

Leucaemia HEf*d TS89l & —

(a) Xad &I (b) @<a @1

(c) g4t (d) ®ig =18l
(25) It detects the harmful microbes -

(a) Monocytes (b) Basophil

(c) Lymphocyte (d) None

4 B RG ASHIsd T gdl oFlT dd o—

(a) AIATETIE (b) d¥ifpa

(c) fermivarae (d) Bis 12l
(26) AIDS is caused due to -

(a) Virus (b) Bacteria

(c) Both (d) None

AIDS B & &R 8 —

(a) 9RIRY (b) dadRan

(c) &I=it CIEIEIE]
(27) Blood is -

(a) Acidic (b) Alkaline

(c) Both (d) None

Gd T —

(a) Thufs® (VEGIGIER

(c) <I=it (d) dIg T8



(28) ‘O’ Blood group is a universal donor -

(a) True (b) False

(c) Both (d) None

s U ‘O’ AIH! Xad & Gbdl & —

(a) |l (b) Irerd

(c) <rt (d) g T
(29) Types of Agglutinin is -

(a) X (b) ‘B’

(c) Both (d) None

Agglutinin  9&R 88—

(a) X (b) ‘B’

(c) &I=it (d) ®Ig &l
(30) Last part of digestive system is -

(a) Urinary bladder (b) Anus

(c) Both (d) None

e dF &1 Iifaw W @—

(a) qAETTA (b) TaT

(c) s (d) ®ig =Tl
(31) Incisor is a type of -

(a) Muscle (b) Teeth

(c) Nerve (d) None

Incisor ¥ GHR &I 2—

(a) 78 (b) gTq

(c)Td C)EIEIE]
(32) __ connects mouth to stomach -

(a) Lungs (b) Pharynx

(c) Oesophagus
T Bl AN ¥ Frsdl a—

(a) BB (b) BRaw

(c) arETB T (d) PE T
(33) First digestive juice is secreted by -

(a) Salivary glands (b) Oesophagus

(c) Both (d) None

9B UTad X9 fAdadar 2—

(a) R wRMAT | (b) et TE @

(c) d=T | (d) DIz T8



(34)

(39)

(36)

(37)

(38)

(39)

Enzymes present in Saliva is -

(a) Ptyaline (b) Maltase

(c) Carbonic Anhydrase (d) All

AR # U A1 ard golrgd 2—

(a) ergfer= (b) AT

(c) Braifie TaETER (d) wht

It helps ‘Bolus’ to move down in Oeslphagus -

(a) Mucur glands (b) Propulsive wave
(c) Both (d) None

d g B "I ol § 1 Sava d A6q HxaT @ —
(a) gdx Ty (b) wRufewq 49
(c) <=t (d) Big el
General capacity of Stomach is about -

(a) 5 Liters (b) 4 Liters

(c) 1.5t0 2 Liters (d) None

IR P AT AHRI: THT Bl & —

(a) 5 Liters (b) 4 Liters

(c) 1.5t0 2 Liters (d) BIg T

Villi are present in —

(a) Stomach (b) Large Intestine
(c) Small Intestine (d) None

Villi 9@ v & —

(a) 3T A OESEIGE

(c) BIdY aAfa | (d) ®Ig T2Y
Beneficial Bacteria are present in -

(a) Large Intestine (b) Heart

(c) Both (d) None

AMeRT AFIRAT TR Wd -

(a) 91 ATa 4 (b) BT Afa o
(c)gr=T | (d) dIg T8

Hemoglobin gives blood red colour -

(a) True (b) False
T aq B oTel 39T QAT & —
(a) el (b) Terd



(40) Vitamin B & K are synthesized by -

(41)

(42)

(43)

(44)

(45)

(a) Small Intestine
(c) Both

(b) Large Intestine
(d) None

faerfim 4" 9o ‘@ ®1 synthesize &xaT & —

(a) BIEY 3Afa
(c) it

QESELS
(d) g T

Defecation Reflex get set when waste reaches to -

(a) Transverse colon
(c) Both

(b) Rectal canal
(d) None

Defecation Reflex set BIdT @ A & — d Ugad UR—

(a) Transverse colon

(c) <I=Y

Large Intestine absorbs -

(a) Water
(c) Vitamins

9€) 3Td YT Hdl & —

(a) ofe
(c) faert=

We need energy for -
(a) Respiration
(c) Excretion

SHoll I ATITTHAT Usdl & —

(a) Taa foar o

(b) Rectal canal

(d) dIg =Tl
(b) Minerals
(d) All of these
(b) frF~ew

(d) 39 €| u+h
(b) Blood flow
(d) All

(b) 3@ 9drg |

(c) Scaoi fpar § (d) |+t

The cells of living organisms are made of -
(a) Protein (b) Enzymes
(c) Both (d) None
groft TR &Y SIRMERT &1 o 399 gar @ -
(a) 9= (b) TTTg™
(c) s (d) ®ig =Tl
Protein is present in -

(a) Qils (b) Fats

(c) Sugar (d) None
YA 9T SIrdr @ —

(a) da o (b) €T |
(c) A+t & (d) ®1$ =T



(46)

(47)

(48)

(49)

(50)

The first element needed by the baby just after birth -

(a) Water (b) Oxygen

(c) Both (d) None

O |1 @ R 9IS Ul Aa¥d dd ol Rie] &1 @1fzd shar @ —
(a) ot (b) s

(c) s (d) ®ig =Tl
Percentage of free cholesterol in blood is -

(a) 150 — 240% (b) 180 — 200%
(c) 100 — 200% (d) None

Yqd H WA Dlid¥eled D 74T & —

(a) 150 — 240% (b) 180 — 200%
(c) 100 — 200% (d) ®ig 18I
Glucose is stored in -

(a) Bone Muscles (b) Liver

(c) Both (d) None

@ISl UL shar @ —

(a) IrRer uRRmal 4 (b) IHa H

(c) i # (d) &g 121
Contribution of carbohydrate in diet should be about-
(a) 10% (b) 20%

(c) 50% (d) None

oA § BEiglssc & AArar sidl @ o rHiT—
(a) 10% (b) 20%

(c) 50% (d) &g T2

Unit of heat-energy is -

(a) Calories (b) Kilogram

(c) Pond (d) None
SHI—%oll & AFD SHIS & —

(a) DA (b) feeriam

(c) ufs (d) ®Is =T8T



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2021
ASPEUS CORRESPONDENCE COURSE-SEM - 1(CAHS)

CHINESE ACUPRESSURE (CA-1)
TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)
Objective Questions (T¥fTs3 Y)

Attempt each questions: 50x2=100
gA® YT & Sk Q-

(1) Pair organ of Lungs is -

(a) Heart (b) Large Intestine

(c) Liver (d) None

BHS BT I IJAAd & —

(a) €<™ (b) BIT ra

(c) a®d (d) ®Ig T
(2) Creator of fire element is -

(a) Wind (b) Earth

(c) Water (d) None

“ART g &1 goa fe9 9@ gR1 gar @ —

(a) a1g (b) gedt

(c) STet (d) ®I¥ T
(3) Yinorganis -

(a) Stomach (b) Gall Bladder

(c) Kidney (d) None

R Jrauq 3

(a) AT (b) faTera

(c) g (d) ®dig 8
(4) Distal point of Abdominal disorder is -

(a) St-36 (b) Li-4

(c) Lu-4 (d) None

9T @ UM & eI fag @ —

(a) St-36 (b) Li-4

(c) Lu-4 (d) ®is 12l



)

(6)

(7)

(8)

(9)

Bitter taste is related to -

(a) Liver (b) Kidney
(c) Heart (d) None
Fedl Wig A JEfed 8 —

(a) g (b) 3T

(c) gd (d) B1g Tl
11 AM to 1 PM time is related to -

(a) Lungs (b) Heart
(c) Kidney (d) None

11 AM ¥ 1 PM 999 394 9Hfud 8 —
(a) B®S (b) g<H

(c) IF® (d) ®I$ =T8T
The season related to coldness energy is -
(a) Winter (b) Summer
(c) Spring (d) None
eMacrar ol d awafea &g @ —

(a) =ha (b) #rea

(c) s8d (d) ®ig =Tl
In “Sujok” ‘Jok’ means -

(a) Hand (b) Head
(c) Leg (d) None
Sujok # Jok @1 aref 8-

(a) BfT (b) R

(c) &= (d) ®Ig &l
UB — 15 is Back Shu Point of -

(a) Heart (b) Liver
(c) Kidney (d) None
UB — 15 Back Shu Point 8 —

(a) g<a (b) a®T

(c) 9@ (d) dig T8



(10)

(11)

(12)

(13)

(14)

(15)

Passage point of Lungs is -

(@) Lu-4 (b) Lu-7
(c)Lu-5 (d) None
BWHs &I Passage point 2—

(a)Lu-4 (b) Lu-7
(c)Lu-5 (d) ®Ig TEY
Leg correspondence will be in -

(a) Index finger (b) Small finger
(c) Middle finger (d) None
4R &1 AIgeT BNIT —

(a) doi-it # (b) ®wffts®r o
(c) HeTHT | (d) BIg =21
Controller of Fire element is -

(a) Water (b) Wood
(c) Metal (d) None
IR a@ &1 fass g —

(a) st (b) ®TS3

(c) =Tg (d) B TN
Total points in Liver meridian are -

(@) 17 (b) 27

(c) 14 (d) None
dax HAfsTs 4 qa feaa fag & —

(@) 17 (b) 27

(c) 14 (d) ®dig 18I
“Fear” emotion related organ is -

(a) Lungs (b) Heart
(c) Kidney (d) None
WY HAAE 9 gHfEd [aad e —

(a) BHS (b) ga

(c) 3% (d) &g T2
Last point of Lungs meridian is located in -
(a) Thumb (b) Index finger
(c) Small finger (d) None
Lungs meridian &T s1f~a fa=g, Rera 38—
(@) 33 7 (b) arsf=h

(c) Bf-ifRadr o (d) ®Ig 2l



(16) Rt elbow correspondence will be in -

(a) Lt Index finger (b) Rt Index finger
(c) Rt Middle finger (d) None
' ST AIG BITT—

(a) STy aof=h (b) <l T #

(c) <Al wegHT | (d) BIg =21
(17) Yellow colour related element is -

(a) Earth (b) Fire

(c) Wood (d) None

frat ¥ 9 gHafaa aa 8-

(a) gedt (b) arf¥

(c) @13 (d) P1E T
(18) Primary correspondence of Appendix is in-

(a) Lt palm (b) Lt Sole

(c) Rt palm (d) None

Jufsad &1 yraffies AIgea 82—

(a) 9rfT B (b) 91T derdl

(c) i =2deht (d) &g T2
(19) Yinorganis -

(a) Pericardium (b) Stomach

(c) Gall Bladder (d) None

T araua @ —

(a) TSI (b) T

(c) e (d) &g 12l
(20) Energy of Lu—8is -

(a) Coldness (b) Dryness

(c) Heat (d) None

Lu-8 & &olf 8—

(a) 2rderar (b) gebdr

(c) ST (d) ®1g TE
(21) Sedation colour of water element is -

(a) Yellow (b) Red

(c) Green (d) None

ST ad $Y SHoll g™ arell 7 8—

(a) drem (b) eTet

(c) &1 (d) &g =T8T



(22) Total point of Stomach meridian is -

(a) 44 (b) 40

(c) 45 (d) None

Stomach #fewa A go fead fag & —

(a) 44 (b) 40

(c) 45 (d) ®1g Tl
(23) Neck correspondence is located on -

(a) Palm (b) Sole

(c) Back of thumb (d) None

T BT WG BITT—

(a) Bereft & (b) aq@ A

(c) F[3 & B (d) PE =T
(24) Dryness energy related organ is -

(a) Heart (b) Lungs

(c) Liver (d) None

YAl Holl 4 e aad 2—

(a) €<a (b) wS

(c) adhd (d) ®ig I8
(25) Small Intestine meridian starts from -

(a) Small finger (b) Index finger

(c) Thumb (d) None

BIC Afd & AAfsaT g% gt 2-

(a) sfifs®r 4 (b) Tt &

(c) 33 4 (d) BIg =21
(26) Energy of Liver s -

(a) Heat (b) Coldness

(c) Wind (d) None

IHd DY Holl 23—

(a) SoT (b) =hderdar

(c)arg (d) ®Ig =Tl
(27) Horary point of Kidney is -

(@K-10 (b) K - 2

(c)K-6 (d) None

qdd 1 sRY =g —

(a)K-10 (b)K-2

(c)K-6 (d) dIg =Tt



(28)

(29)

(30)

(31)

(32)

(33)

Energy of Sp-1 is -

(a) Heat (b) Wind
(c) Coldness (d) None
Sp-1® &olf & —

(a) ST (b) arg

(c) Sfraerar (d) &g T2
Pair organ of Stomach is -

(a) Spleen (b) Liver

(c) Heart (d) None
JTATI HT YT JqId B

(a) wiraT (b) I®d

(c) g<a (d) BI$ T
XI-Cleft point of Heart is -

(@)H-5 (b)H-4
(c)H-6 (d) None
g<d &1 XI-Cleft fag 28—

(@H-5 (b)H-4
(c)H-6 (d) Big =Tl
Opening of Lungs is -

(a) Eye (b) Mouth
(c) Nose (d) None
BHs &I Opening g —

(a) sire (b) gz

(c) e (d) ®1g T
Creator of wood element is —

(a) Water (b) Fire

(c) Metal (d) None
BTG dcd BT o fba dcd gRT ghar & —
(a) STt (b) arf¥q

(c) =g (d) &g LT
Luo Connecting point of Stomach is -

(a) St-45 (b) St- 36
(c) St-40 (d) None
AT &1 Luo Connecting fag @ —

(a) St-45 (b) St- 36
(c) St- 40 (d) ®ig T8I



(34)

(39)

(36)

(37)

(38)

Pulse meeting point is -

(@)Lu-8 (b)Lu-9
(c)Lu-6 (d) None

Pulse meeting fa=g & —

(@) Lu-—8 (b)Lu-9
(c)Lu-6 (d) &g T2Y
Tonification colour of Lungs is -

(a) Brown (b) Green

(c) Red (d) None

BHs I SHoll ¢ arell 3T 8 —

(a) X1 (b) &1

(c) <ret (d) d1g T

Lt Knee correspondence will be -

(a) Lt Middle finger (b) Lt Small finger
(c) Lt Thumb (d) None

9 ged &1 9Igey 8-

(a) 9Tl e (b) 9t BT
OEEIELG) (d) BYE T

Which of the followings are not covered by the definition of Meridian -
(a) The means whereby Man is cured.

(b) The means whereby Man is created.

(c) The means whereby Medicine is created.

(d) The means whereby disease occurs.

fr1 4 @ o9 A AT & aRwmer 98 -

(a) The means whereby Man is cured.

(b) The means whereby Man is created.

(c) The means whereby Medicine is created.

(d) The means whereby disease occurs.

Sedation colour of Stomach is -

(a) Red (b) Green
(c) Yellow (d) None
IR Y SHoll $F B drell 3T B—
(a) eTel (b) &1

ORI (d) dIg T8



(39) Organ related to Brown colour is -

(a) Lungs (b) Heart

(c) Kidney (d) None

R T 4 gHEfaa @aad 32—

(a) BBS (b) g=a

(c) g7® (d) P =T
(40) Which point will be applied after becoming unconsciousness -

(a) K-1 (b K-7

(c)K-4 (d) None

98T 81 W P9 4 fag 9 g9d A —

(@) K-1 (b)K-7

() K-4 (d) P e
(41) Heart is controller of -

(a) Liver (b) Stomach

(c) Lungs (d) None

g s @ —

(a) I®md @1 (b) ATHTIT &1

(c) BwS BT (d) B T
(42) Related organ of the Anger emotion is —

(a) Heart (b) Liver

(c) Kidney (d) None.

$IE FFIHE @ wEfed aad @ —

(a) g<d (b) Td

(c) g (d) ®ig T8l
(43) Hotness energy related organ is -

(a) Liver (b) Spleen

(c) Pericardium (d) None

YaR ST ol 4 GHfEd Jaaq 8—

(a) ®md (b) wftaT

(c) T ST (d) &g T2Y
(44) Which is the colour of Earth element -

(a) Yellow (b) Red

(c) Green (d) None

gyt g @ wwfada T 9 ar -

(a) drer (b) @re

(c) &1 (d) ®ig Tl



(49)

(46)

(47)

(48)

(49)

(50)

3 AM to 5 AM time is related to -

(a) Heart (b) Lungs

(c) Kidney (d) None
3AM Y 5 AM 999 399 wHEfEd g—

(a) <4 (b) BHS

(c) IaH (d) &g LT
UB — 13 is the Back Shu point of -

(a) Heart (b) Spleen

(c) Lungs (d) None

UB — 13 Back Shu point 8—

(a) €sd &1 (b) wirar &1
(c) BHs BT (d) ®1g =¥
Energy (Qi) meeting point is-

(a) Cv-17 (b)Cv-14
(c)Cv-10 (d) None

Sl Energy (Qi) fifeT fag 23—

(a) Cv-17 (b)Cv-14
(c)Cv-10 (d) BIg T
Meaning of TCM is -

(a) Traditional Chinese Medicine (b) Traditional Chinese Meridian
(c) Traditional Chinese Man (d) None
TCM @&t 3ref & —

(a) Traditional Chinese Medicine (b) Traditional Chinese Meridian
(c) Traditional Chinese Man (d) ®ig &Y
Controller of all six yang meridians is -

(@) CV (b) GB

(c) GV (d) None
gl B: i #AfsyT &1 FaFe Aafsaa @ -
(a) CcV (b) GB

(c) GV (d) ®1g Tl
Wind point of Kidney is -

(a)K-4 (b)K-6
(c)K-1 (d) None
fst T Wind Point 38—

(a) K-4 (b)K-6

(c) K-1 (d) dIg =T



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2021
ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

AYURVEDIC ACUPRESSURE (AA-1)

TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)
Objective Questions (T¥fTs3 Y)
Attempt each questions: 50x2=100

gd® Yl & SN o

(1) Lt thumb related number is -
(a) 1 (b) 2

(c)9 (d) None

IR IS A wEfud &6F 2 —

(a) 1 (b) 2

(c)9 (d) dig Tl
(2) ‘Vaata dosha’ related number is -

(a) 1+2 (b) 3+4

(c) 5+6 (d) None

I I d g e @ -

(@) 1+2 (b) 3+4

(c) 5+6 (d) &g 8l
(3) ‘Sound’ is the energy of -

(a) Vaayu (b) Aakash

(c) Agni (d) None

‘grsg’ fhaa) a=m=T 23—

(a) a1y (b) rTepTeT

(c) arf¥ (d) dIg T8I
(4) ‘Mind’is -

(a) Physical element (b) Metaphysical element

(c) Both (d) None

T B —

(a) #ifa®s a@ (b) wRrHifa® d@

(c) <=t (d) ®I$ =T8T



)

(6)

(7)

(8)

(9)

Lt IF V jt related organ is -

(a) UB (b) GB

(c) Li (d) None

Lt IF V jt a¥afara srqaq & —

(a) UB (b) GB

(c) Li (d) ®1$ =T
‘Nucleus of brain’ is plotted on -

(a) Lt Thumb (b) Rt Thumb
(c) Lt MF (d) None
ARass &1 dwd Rera & —

(a) I 3B W (b) S A3 W
(c) Il HETgHT R (d) BIg =21
‘Plasma tissue’ related joint is -

(a) Lt RF P jt (b) Rt RF P jt
(c)RtIFPjt (d) None

M grg’ 4 gEfug o @ -

(a) Lt RF P jt (b) Rt RF P jt
(c)RtIF P jt (d) &g T8
Rt SF V jt related organ is -

(a) Li (b) Si

(c) St (d) None
Rt SF V jt & wafed 3@aq & —

(a) Li (b) Si

(c) St (d) ®1g T
Joint related to Left Elbow tulyarthata is -

(@) Lt RF P jt (b) RtIF P jt
(c) Lt MF P jt (d) None
Il sie @ Sits 9 wwiaa goarelar @ —
(a) Lt RF P jt (b) RtIF P jt

(c) Lt MF P jt (d) P TN



(10)

(11)

(12)

(13)

(14)

(15)

‘Physical element’ is -

(a) Vayu (b) Kaal

(c) Mann (d) None
wifas a@ 8-

(a) arg (b) ®Tet

(c) & (d) 1% T
Lungs organ related element is -

(a) Kaal (b) Disha
(c) Aakash (d) None
Bhs 4 gHEfEd da 38—

(a) ®rcd (b) feem

(C) STHILA (d) &g 12l
Number related to Element “Disha” is -

(a) 7 (b) 6

(c)5 (d) None
“feem” a9 gHEfud e & —

(a) 7 (b) 6

(c)5 (d) ®1g =T
Pitta Dosh related number is -

(@) 142 (b) 3+4

(c) 5+6 (d) None
fia <Iw 9 gwfea sis & —

(a) 1+2 (b) 3+4

(c) 5+6 (d) ®dig 18I
Which one is not a Physical element -

(a) Kaal (b) Vaayu
(c) Prithvi (d) None
Hifoed daa &I a1 T8 2 —

(a) ®Ta (b) arg

(c) gt (d) &g LT
Element related to Kidney is -

(a) Jal (b) Prithvi
(c) Agni (d) None
39% @ wHfEd dd 2—

(a) oiet (b) gedt

(c) a1f (d) ®I$ L



(16)

(17)

(18)

(19)

(20)

(21)

Bone Marrow is -

(a) Element (b) Organ
(c) Tissue (d) None

Aol B8—
(a) da (b) 3rqga
(c) =g, (d) ®Ie =Tet
Correspondence of Nose is on -
(@) Thumb (b) Palm
(c) Middle finger (d) None
1% &1 WIgeAdr ghfl —
(a) S W (b) gl W
(c) wedHT JATLeAl (d) ®ig T8I
In Ayurveda, meaning of “Ayu” is -
(a) Knowledge (b) Life span
(c) Mantra (d) None
AT Wk ¥ ‘AR &1 T ef 32—
(a) &I (b) Sfra=T &rel
(c) 5= (d) B =7l
Which energy is related to Water -
(a) Sound (b) Touch
(c) Taste (d) None
STel &1 I 1T/ SHoll T & —
(a) 2rsq (b) et
(c) w1 (d) ®ig =Tl
Time of Kaph-Kaph is -
(a) 8 AM-12 AM (b) 4 PM-8 PM
(c) 6 PM-10 PM (d) None
PH—bh B THI & —
(a) 8 AM-12 AM (b) 4 PM-8 PM
(c) 6 PM-10 PM (d) ®ig =&l
Which magnet is used for ‘sedation’ of energy -
(a) White byol magnet (b) Yellow byol magnet
(c) Both (d) None
Soll e @ fau &9 91 AT &1 STANT HRA—
(a) 9BE Sid #AHe (b) et =aIe AT

(c) @It (d) dIg T8



(22)

(23)

(24)

(25)

(26)

(27)

Which organ is plotted on Rt Index finger V jt -

(a) GB (b) St
(c)uB (d) None
Rt IF Vjt UR &9 41 3rqaq Rerd & —

(a) GB (b) St
(c)uB CEIEIEE]

How many Sutras in Ayurveda are -
(a) 1 (b) 2

(c)3 (d) None
argds # fd fHad g3 & —

(@)1 (b) 2

(c) 3 (d) dIg =7l
Element related to Finger No. 5 is -

(a) Aakash (b) Prithvi

(c) Vaayu (d) None
el g 5 § gfad aa 8-

(a) 3T (b) gedi
(c)arg (d) ®Ig =Tl
Finger related to “blood tissue” is -

(a) RtIF (b) Lt IF

(c) Rt RF (d) None

ad o1g @ arfea el 2—

(a) <Y ast-i (b) IR T+
(c) AT IFTf®T (d) &g T2Y
Metaphysical element is -

(a) Aakash (b) Kaal

(c) Vayu (d) None
wRmifa® da 2

(a) TpTA (b) BTl
(c)arg (d) ®1g T
Correspondence of hip joint is in-

(a) Index finger (b) Small finger
(c) Middle finger (d) None
$oe d Sils @I geareidr @ —

(a) asi=ft o (b) Bf-ifis®r o

(c) weaHr | (d) ®Is =T8T



(28) Ovary gland is located on -

(a) LtIF (b) Rt SF

(c)RtIF (d) None

eyt 7y Rerg 2 —

(a) IR doi-il w (b) sr=ff wffls®T R

(c) srfT asi+ir wR (d) &g T2Y
(29) Vaat is the combination of -

(a) Aakash+Vaayu (b) Agni+Jal

(c) Jal+Prithvi (d) None

ara e &R 9971 8-

(a) ATHTI+ATY EREREE]

(c) STeai+gedt (d) ®ig 18I

(30) Plotting of Spine is on -

(a) LtIF K jt (b) Rt MF V jt

(c) Lt RF V jt (d) None

Spine @I Plotting 8—

(a) LtIF Kijt (b) Rt MF V jt

(c)LtRF V jt (d) dIg T2
(31) Kaph dosh related number is -

(@) 1+2 (b) 3+4

(c) 4+5 (d) None.

% IV AHElEd IH 8 —

(a) 1+2 (b) 3+4

(c) 4+5 (d) &g T2

(32) ‘Cerebellum’ is plotted on —

(a) Lt MF V jt
(c) Rt MF K jt

A9 Rera 2 —

(a) Lt MF V jt

(b) Lt MF K jt
(d) None

(b) Lt MF K jt

(c) RtMF K jt (d) dIg T2
(33) Finger related to Kaal is -

(a) Lt RF (b) Rt IF

(c) Lt MF (d) None

‘B’ 4 gNEd AT 2 —

(a) T STt (b) <rfY aof+h

(c) IRfY w=T (d) ®ig T8I



(34) As per the sense organ, Nose is plotted on -

(39)

(36)

(37)

(38)

(39)

(a) Index finger

(c) Ring finger (d) None
FRfsa © ®U ¥ e Rera 8-

(a) aof=ir & (b) Bffls®r o
(c) sTfi®T 7 (d) ®is gl
Element related to Liver organ is -

(a) Aakash (b) Agni

(c) Vaayu (d) None
forar 3raua | wwfaa d@ @ —

(a) 3rrhTer (b) ¥

(c) arg (d) ®ig =Tl
Number related to Tam is -

(@0 (b) 1

(c)2 (d) None
a1 grafaa dear 8-

(@o (b) 1

(c)2 (d) BIg T&

Bone tissue related joint is -
(a) Lt MF P jt

(b) Small finger

(c) Rt RF P jt (d) None
3aRer arg wwfaa s 23—

(@) Lt MF P jt (b) Rt MF P jt
(c) Rt RF P jt (d) dig Tl
Tulyarthata of cervical is on -

(a) Index finger (b) Thumb
(c) Middle finger (d) None
WRAIgHd B goarefar 28—

(a) asi-t 4= (b) IS W
(c) AT WX (d) ®is 12l
Element related to Rt Index Finger is -

(a) Aakash (b) Vaayu
(c) Agni (d) None

Rt Index Finger & wwafea d@ 28—

(a) 3mapTeT (b) arg

(c) arft (d) ®Ig &l



(40) RtRF K jt related organ is -

(a) Spleen (b) Heart

(c) Kidney (d) None

Rt RF K jt aw=ferd saaa 8—

(a) wier (b) g<a

(c) 9@ (d) &g LT
(41) Sense organ “Eyes” are located on -

(a) Middle finger (b) Index finger

(c) Ring finger (d) None

g e Rea @ —

(a) qegH (b) Toi=ft

(c) ST (d) &g T2Y
(42) UB organ is plotted on which joint —

(@) LtIF V jt (b) Rt MF K jt

(c)RtIF Vit (d) None.

UB organ &3 oiis wR Rera @ —

(@)LtIF Vjt (b) Rt MF K jt

(c)RtIF Vit (d) dIg T2
(43) Which one is not a Metaphysical element -

(a) Vaayu (b) Disha

(c) Kaal (d) None

wRrAtfae dac s a1 T8 -

(a) a1y (b) fem

(c) ®ret (d) ®ig =Tl
(44) Agni element related number is -

(a)3 (b) 4

(c)5 (d) None

af a@ gwfea wwar 2-

(a) 3 (b) 4

(c)5 (d) B =Tl
(45) Tulyarthata of Ankle joint will be in -

(a) Index finger (b) Middle finger

(c) Small finger (d) None

T @ Sis d goarear gifi-

(a) it & (b) wegaT &

(c) Bf-ifRadr o (d) ®Ig 2l



(46) Action organ Leg is located on -

(@) RtIF (b) Lt SF
(c) Lt MF (d) None
HHfa IR Rea 2 —
(@) RtIF (b) Lt SF
(c) Lt MF (d) BIg =21
(47) Energy of Kaal element is -
(a) Ahankar (b) Sense of direction
(c) Motto (d) None
BTl dcd B THEAT/ Holl FT o—
(a) AEBR (b) feemmaiy
(c) dI&g (d) &g T2Y
(48) Lt SF Vjtrelated organis -
(a) Heart (b) Large Intestine
(c) Small Intestine (d) None
Lt SF V jt gwafad 3@add 3—
(a) €xF (b) a1 3rfa
(c) BIEY 3rid (d) ®is 12l
(49) “Reproductive tissue” related finger is -
(a) Rt RF (b) Rt MF
(c) Lt MF (d) None
“3r G wEEd A B —
(a) Rt RF (b) Rt MF
(c) Lt MF (d) ®ig T8I
(50) Joint related to Reproductive organ is -
(@) Lt Thumb V jt (b) Rt Thumb V jt
(c) Lt RF Kt (d) None
S 3T gHfad siis 2—
(a) Lt Thumb V jt (b) Rt Thumb V jt

(c) Lt RF K jt (d) &g T8



